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KONSTRUKCNI TVARY
Vypoctovy % Tvar | @M | L |@Di S FIP[R Vypoctovy % Tvar | @M [ L [@Di mSin FIPI[R
2 Dp c% min [} Dp §
40 1 P | 40 |35 20|15 100 1 P | 48 |40 20| 20
50 1 P | 40 |35 20 [ 15 2 P | 60 |45 35|10
2 P | 40 |45 35|10 3 P | 62 |50 50
60 1 P 40 |35 20115 4 P/1 52 |67 65 13
2 [ P[40 |45 35110 5 | PH 52 | 67 80 28
- :1* g 38 28 28 5 105 | 1 | P | 48 |40 20 | 20
2 P | 50 |45 35|10 2 P_| 60 145 35110
3 b | 5 =0 50 112 1 P | 48 |40 20| 20
70 1 | P | 40 [40 20 | 20 2 | P |60 145 35110
2 | P |50 |45 35|10 3 | P 6250 S0
3 P | 52 |50 50 4 | P 52 79 65 13
4 P 65 65 5 | P/ 52 | 79 80 28
75 1 P | 40 [40 20 [ 20 120 1 P | 60 |40 20| 20
2 P | 50 |45 35|10 2 P | 60 |50 35|15
3 P 52 |50 50 3 P 70 |50 50
4 P | 52 |65 65 4 | pPn 52 | 87 65 13
> | P | 52180 80 5 | P/ 52 | 87 80 28
80 | 1| P | 45140 20120 125 | 1 | P | 60 |40 20|20
F P ] 90 145 3510 2 P | 60 |50 35|15
3 P | 62 |50 50
4 | p |62 65 65 3 | P 170150 50
5 P | 62 |80 80 130 1 P | 60 |40 20| 20
85 1 | P [ 45 [40 20 | 20 2 | P | 6045 35110
2 P | 50 [45 35(10 3 P | 70 [52 50
3 P | 62 |50 50 4 | pPn 52 | 97 65 13
4 P | 62 |65 65 5 | P 52 | 97 80 28
5 P | 62 |80 80 140 1 D | 60 [40[107[10]20]20
90 1 P | 45 |40 20|20 2 D | 60 |[50]107|10(35]15
2 P | 60 (45 35110 3 | D | 70 |52]107[12]50] 2
Z g 22 gg g’g 4 | Pn 52 [107| |65 13
. o> | es |so 80 5 | P/ 52 [107 80 28
o5 ; 5125 Ta0 AlEE 150 1 D | 60 [40[107[10]20](20
. = = o | 2 | D | 60 |45(107| 10|35 10
3 p | 62 |50 50 3 | D | 70 |52|107|12|50]| 2
4 =) 68 |65 65 4 P/1 52 1107 65 13
5 P 68 |80 80 5 P/ 52 1107 80 28
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Vypottowy| S | 1 |gm | L loni| S|F|pP|R| [Wpottow| S | 1 |gm | L |oDi] S
@ Dp B min @ Dp B min
S S
160 1 D | 60 [40[127|10] 20|20 355 1 R | 75(50(322] 14
2 | D | 60 |50/[127[10(35]15 2 | R | 80]|50/(322|14
3 | b | 70 |52|127[12]50]| 2 3 | R | 90]60[322]|14
4 |pm| 70 |52[127[ 18|65 13 4 | R | 95|65]|322|18
5 [D/1 | 80 |52(127] 1880 28 5 | R/ | 100 | 65(322] 20
170 1 D 60 |40(137|1 12120120 380 1 R 80 150134712
2 D 60 4513711235110 2 R 90 | 50 1347| 14
3 | D | 70 |52[137|12|50]| 2 3 | R
A PR il Bt e R 3 | R | 90 |eofaar1a
5 | DA | 80 |52[137[18] 80 28 = | rit | 100 | 65 1347] 20
180 1 D | 65 |40[147[12]20] 20 YT ; R T 90 20 3671 14
2 | D | 70 |50/[147[12[35] 15
2 | R | 90]50(367|14
3 | D | 70 |52|147[12|50]| 2 3 | r 1100 | o0 13671 16
4 | D1 | 80 |60[147[ 18|65 5
5 | D1 | 80 |65[147[ 18|80 15 4 | R | 10016536720
200 T D | 65 [45[167[12[20[25 S | R/ | 100 | 65|367| 24
2 | D | 70 |50/[167|12| 35|15 450 1 R | 90|50(417| 14
3 D | 70 |[50[167| 12|50 2 R | 100 | 50 (417( 14
4 | DM | 80 |60[|167|18 |65 5 3 R | 100 (60 [417( 16
5 | D/1 | 80 |65]|167| 18|80 15 4 | R/M | 105 [65]417| 20
225 1 D | 65 |45[192[12[20[25 5 | R | 105 | 65[417] 24
2 | D | 70 |50[192[12[35] 15 500 1 R | 90 [50][467] 14
3 | D | 80 |50[192[12]50 2 | R | 100 ]|50|467| 16
4 | DM | 90 |60[192|18]65 5 3 | R |105]|60|467]20
5 | D/ | 90 |65[192] 18] 80 15 4 | RM | 105 |65]|467| 25
250 1 D | 75 |50[217[12[20[30 5 | R/ | 110 | 65467/ 28
2 D | 75 [50(217[{12]35|15 560 1 R | 100 |50 (527] 16
3 D 80 |60(217)12 (50|10 2 R | 100 | 50 [527] 20
4 D 90 | 6512171 18|65 3 R 120 | 65 |527| 22
5 [DM | 90 |65[217[ 18] 80 15 2 | R 1120 | 651527 25
2 | R | 80 |50[247[14|35]15
6 | R/ | 120 | 80|527| 32
3 | R | 80 |60)247/14150 10 600 | 1 | R | 100 |50][567] 16
4 | R | 90 |65(247[14]|65
2 | R |110|50(567]20
5 | R/ | 100 | 65[247[ 14| 80 15 s | B I
300 1 R | 75 [50(267] 142030
4 | R | 120 |65]|567|25
2 | R | 80]|50|267[14(35]15
3 | R | 8o0|60]267|14|50(10 5 [ R [120]80567| 30
2| R | 90l70l267114 165! 5 6 | R | 120 | 80 [567] 32
5 | R [ 100 | 70[267][ 1480 10 630 1 R | 100 [ 501597 16
315 1 R 75 | 50(282| 14 20| 30 2 R [ 110 | 50 [597] 20
2 R 80 | 50(282| 14|35 15 3 R | 120 | 65 (597| 22
3 | R | 90]|60/[282[14|50]10 4 | R |120|65(597|25
4 | R | 90]|65](282|14]65 5 | R |120]80(597|30
5 | R/ | 100 | 65(282| 16| 80 15 6 | R/ | 120 | 80597 32




